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1 	Introduction
In RAN4 #104-e, one LS [1] sent from RAN1 was received. In that LS, RAN1 asks RAN4 what maximum uplink timing difference that RAN1 can assume between the two TAs for multi-DCI multi-TRP operation. In RAN4 #104-e and #105, RAN4 replied two LSs ([2] and [3], respectively) back to RAN1. However, in [3], one open issue regarding the values of M1 and M2 in RTD > CP case were discussed without conclusion yet. Our view on values of M1 and M2 is provided in this paper.
2 Discussion
The content in replied LS [3] is provided below for reference.
	1. Overall description:
RAN4 thanks RAN1 for the LS on maximum uplink timing difference between the two TAs for multi-DCI multi-TRP with two TAs. After RAN4 further discussion, following values are agreed as MTTD values.
For a UE capable of supporting Receive Time Difference (RTD) > CP, MRTD/MTTD value for FR1 is 33/34.6 µs and MRTD/MTTD value for FR2 is 8/8.5 µs.
For a UE not capable of supporting RTD>CP, MTTD is within (CP + M1 µs) for FR1 and MTTD is within (CP + M2 µs) for FR2. Where M1 and M2 are FFS in RAN4. 


As above, in the last meeting, M1 and M2 are for further study. We think both M1 and M2 should be zero, i.e. MTTD is within one CP in both FR1 and FR2. If the timing difference is larger than one CP, the transmission power may be changed suddenly, leading to discontinuous phase of the signal. If this phase jump happens during the OFDM symbol duration (not CP) and network may not receive the signals successfully. And UE will be only wasting its power in transmission.
[bookmark: _Ref127287163][bookmark: _Ref115355255]Proposal 1: For a UE not capable of supporting RTD > CP, the maximum transmission timing difference (MTTD) should be less than one CP, i.e. both M1 and M2 are zero. 

3 Summary
[bookmark: _Hlk94866332]In this paper, the discussion of R18 MIMO is provided. We have the following proposal:
Proposal 1: For a UE not capable of supporting RTD > CP, the maximum transmission timing difference (MTTD) should be less than one CP, i.e. both M1 and M2 are zero.
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